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Instructions :

All (five) questions are compulsory.

(2) [aseul xials .
Options are internal.

(3)  wHell cuy saldd 2isst Us-AL YL L ald €.
Figures to right indicate full marks of questions.

1. (A) R usinidl 2isl G2 2uA3 750 AetiHl dvil ¢ 10

Answer any one question from the following questions. Answer should be in 750
words.

(B)
2. (A
DD-106

1)

)

Al yd eRdMl Rias-ulaeidl eamsil sul sa dald 3 edl 2 ees
Ul Esui 2l s

Which  Commissions recommended for teacher education before
Independence in India ? Give brief description of all Commissions.
Biats-ulhiael vied g 2 d-l Aseuddl ure 30 d-l gesi-l 2l .

What is teacher-education ? Discuss the concept and components of the same.

AL usimie]l 25l G AR 125 AL AVl : 4

Answer any one question from the following questions. Answer should be in
125 words.

(1)
)
(3)

[Brets-uldiael s1dsH-l G el audl.

State the aims of teacher education Programme.

yRalidl [BlaeL ua (1948-49)-l saumell weldl.

State recommendations of University Education Commission 1948-49.
[Brets-uldami N.C.T.E.Al oyt saldl.

Discuss the role of N.C.T.E. in teacher education.

AAAL usAimie] GiAL G U 100 ACLHL vl ¢ 6

Answer any two questions from the following questions. Answer should be in 100
words.

1)
()

RBrats-l 20lBLs e+l wsdlal s
Evaluate economical status of a teacher.
AlaALs e YAl Hie [ad 59-59 dlaullds Axrdizil snadl gl ?
Which professional competencies does the teacher need to cultivate
professional status ?
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(B)

3. (A

(B)
4. (A)
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(121 usAliell 2isl G ez 500 Aot Avil 8
Answer any one question from the following questions. Answer should be in 500
words.

(1) Ras wldactgdil &l sl 54l 8 ? [dryds Adig dvil.
Which are the fields of teacher commitments ? Write in detail.

(2)  AdAAAL @Rl weudl el Rlasl daell U el Y dvil.
Mention the characteristics of VVocation. Describe in detail the characteristics
of an Ideal Teacher.

2L usAliell 2isl G AR 750 woelHi Avil : 10
Answer any one question from the following questions. Answer should be in 750
words.
(1) Aasiedlt ulaedl qAseu-dr ure 530 Aasidl [Raeidl e M-l
Guial gLl
Clarify the concept of In-Service Training and mention the remedies of
improvement of in-service training.

(2) s [Res-uligeidl QA deel 22l s ¢
Discuss Secondary Teacher Education in the following references :
(i) Geaul
aims
(i) wals sl
practical work
(i) wulelil
limitations
AL usAlHiell 2isl G2 AR 125 woelHi Avil : 4
Answer any one question from the following questions in about 125 words :
(1) ‘SCERT’ U2 &slil @vil.
Write a short note on SCERT.

(2)  Awsidld dield siolAl Adl4 Yol (stdsHl) u ustaL uisl.
Throw light on the innovative programmes of in-service training.

(3) TLM [Hu3L 2idl dMIRL Hddl weudl.
Give your opinions regarding the construction of TLM.

{12l usAlHiel oiAlL GR 1A 100 AeslMl dvil 6
Answer any two questions from the following questions :

(1) [ats-uliasr Al AA18-1l s4L 539 ?
Which are the resources of teacher-education institutions ?

(2)  wHwellselAL dlet Ll

Discuss advantages of standardization.
(3) NAAC 4R &s5+t4 avil.

Write a short note on NAAC.



(B) {laAl watiiell sl G 242 500 AsEHL Avil ¢ 8

Answer any one question from the following questions in about 500 words :
(1) NCTE-L 1AL yg12ti-l Aecldl 2l s :
Discuss NCTE from the following point of view :

(i) Geaul
aims

(i) swdan
scope

(iii) sl
functions

(2) (sl yareudi NCERT -l ¢iMst ur [Qdizyds iy duil.
Write in detail about the role of NCERT in the improvement of Education.

el [asedlnil dou [Asew uie s31 vudl Ul YU Al UL S5HL wdAlel

YL 14
Fill in the gaps by choosing appropriate option from the following or Answer the
question in brief.

1)

)

©)

(4)
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1986+l Adl vy (el Al [Saua 2 531 edl

(A) LdLY. wLseM (B) 4l 2uewaoiidl

(C) 2l A ed (D) 4l sislfl
recommended new National Policy of Education of 1986.

(A) A.P.J. Abdul Kalam (B) Shri Rajiv Gandhi

(C) Shri Ravindra Dave (D) Shri Kothari

RALLSWIAA U ALl 2l oAl gl

In year Radhakrishnan Commission was implemented.

(A) 1948 (B) 1952

(C) 1964 (D) 1986

NCTE Qi T o).

NCTE became autonomous in the year.

(A) 1991 (B) 1993

(C) 1995 (D) 1999

ARL B1as o agel [Aesdl o 6.

(A) uslaurRad suq (B) [aMuarg U uei«

(C) A Alsd« (D) [3Rdsd, 535 aqw

characteristic become an obstacle in becoming a good teacher.
(A) Knowledge of methodology (B) Mastery over content
(C) Pleasant personality (D) Insistence for discipline
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(5)  adlvigMi A HI2 Ugld ay 2A51R5 lad .

(A) v (B) waidR
(C) uixse (D) su-t-ul
method becomes effective in classroom teaching.

(A) Lecture (B) Question-answer

(C) Project (D) Discussion-narration
(6) NCTE -l 4wy Gegy Al dpRlaTl YHRAAL €9.

(A) A41usl (B) weulHs [asl

(C) walis [aasl (D) GudR ML [asl

The main aim of NCTE is to improve the quality of

(A) Lecturers (B) Secondary teachers

(C) Primary teachers (D) Higher Secondary teachers
(7)  elis [2ELha 1952-531 28 Sell.

(A) 3L sl&1R) (B) 3L Helldu

(C) 3L AULE®IA (D) 4l Ssareus uid

The head of Secondary Education Commission 1952-53 was

(A) Dr. Kothari (B) Dr. Mudaliar

(C) Shri Radhakrishnan (D) Shri Ishwarbhai Patel
(8) sl wHldl ol ¢Hel oAl gl

In year woods dispatch was manifested.

(A) 1854 (B) 1904

(C) 1895 (D) 1886

(9) CTE< Yy i g ¢ ?
What is the full form of CTE ?

(10) NCERT il 6l $1dl glidl.
State two functions of NCERT.

(11) [as-uldiaei-l ol Gzl weldl.
State two aims of Teacher Education.

(12) [asl 0Hlrs e vied g ?
What is the Social Status of a teacher ?

(13) [aeuelatl ul-l uldotgdidl ol GelewIl duil.
Give two examples of commitment towards students.

(14) Asidlt dieldr ol dudt el
State two advantages of in-service training.
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